oA x ©] g A% tEelet.

o1
—05=—
* 2

D1 @ 1.05 ® 1.05 @1.05

® 1.005




2 + FAFORE 7
35
35
+
35
<39
74 )
A5
o=
rdu=y
+s] o
R
™
l_r)

@
33
0%
®
39
@
312
®
315

3+
3+
35
3x3° =
36




<_lx+i‘ _§>+<§x+§ _Z)
6 7371 273" 7§
( 2 16 15> (18 L2 1

2T T 27127 12
_(—2x+16y—15+18x+20y—14>
= 12
1

N———

6x + 36y — 29

A% 5y AR 8
13

4
- +3
3+ 3




® —4x% - xy




® 3.14

® 0.17

@

® 0.2134

35
23x3x7

‘ = 3.141592--- %




B xydxxxys =x xy?




@ xS ® x7

® x°

SHE 7 —a—1=2 a=40lck

x4 2kal

=
=

L]







9. —2a%b x (3ab)? + (-2ab?)? + 9a*b? & 7FHo] 5HH?

©
Ql(ﬁ
<
©
lQ
©
|

—2a%b X (3ab)? + (—2ab*)?* + 9a*b*

» 1
9

_ 2 272
= —2a°b X 9a°b” X 12h7 252

1
=~ oItk




10.

1 5
® 2x + 15y @) 6x+1y

5 1
@ x4+ 4y ® Zx—ay

5
@ 6x+5y

~&B

2x+y x-3y

4 3
_ 3(2x+y) —4(x-3y)
= 12
_ 6x+3y—4x+ 12y

12
L
T T 12 Tt r




11. 2x-3[x+3y-2{x+2(-y+x)}] =ax+by W, ¥ a, b
iste] a - b ] FH2?

@7 @ 10 ® 21 @38 ® 52

B )

2x-3[x+3y-2{x+2(-y+x)}]
=2x-3{x+3y-2(x-2y+2x)}
=2x—3(x+ 3y —2x + 4y — 4x)
=2x—-3x—-9y+6x—12y + 12x
=17x - 21y

ca—-b=17-(-21) =38




12. b5 F &2 227

flo

@® 6x3 + (-2x)2 = -12x°

@—4)65 +2x3 = —2x2

® 8a*h? +2(ab)? = 24°
1 1 1
2 = Dy
@ (x*+x)= 5% = 5T 5

® (4x% —y?) + (=2y) = —8x%y + 2y°

~&B

@ 6x° + (—2x)% = 62 + 4x? = ;x

@ —4x® = 2x3 = —2x573 = —92x2
® 8a'b? + 2(ab)? = 8a*h? + 2a%h? = 4a?




13.

® 99

Uety A §35t4A47 At o] of, = 2o 4

420 =22 x3x5x7O|EZ
x 7} 22T 3x7 £ o5 AR & & 21 9] v
21 9] Wl £ S FolA 7 Zhe 4 21 o]k

Tx=21




14.

. . 3
857142 2
0857142 , @ —

1 2
- =033 =07
® 33 ® 35
= =0.273 2 04
@ 1 0.272 ©) o 0.45
1 . 2 )
®§=0.333---=0.3,®§=0.666---=0.6
6
® > = 0.857142857142--- =
0.272727--- = 0.27




15.

NOFES A B 284S LY, st 2212 B Holy
o] 0.4 o] BT, AU BRE FF HolA o] 0.47 o] H9lc}.
o] u, 7|OFE A S T5hu?
40 41 42 43 47
O Py CP5% Wy 0O
_ .. 41
©° 1041 = —
Sht - 0di= o,
. 43
A 0. = —
Y @ 047 )

webd] 7L9) Tjeprin
A7 B 2y 43
Gt Eam) — g9~ AT




o8

@ 3.141592+= f-etagolt},

eyl
ok %
G <+
o
W
T T
oy
G 4
“d
o o
oF <
a0 ol

247} oyt

o

o

© [j200 |2 <p

o @ @

B

SHA]

OF ERgcxcy

@ 3.141592 —

<

<

Tod

ok

T o
Ny S




17. 2x20x28 =64 Ao, [ ]9he] $=9

@1 @2 ® 3 @ 4

20 x 24 = 64 = 26

[J+4=6 -~ []=2




18.

@ 4x2y3

@ 2)64}74

() J=sx e

(=2x%y)? =

@ 4x2y4

@ —2)62}74




St ?

o

,a+b 2 gk

SH
=

a

® 130

@)31 ® 60 @ 65

® 19

)
L)

o

Il

<Y

l_l

— | T
Il .-
D~
X
0
s(x S
0m__
a
=
IS
[ N




20. T A, Boll st A«B=A-3B =t %

,B=x*-3x+5°] ot (A«B)«BE ‘_}?}6]8}?3?

@ -5x% -20x-22 @—5x2+20x—34
® 2x2-x+1 @ 2x°+5x+9

® 5x2+22x—4

B

(AxB)*B=(A-3B)-3B=A-6B0|E&
(x> +2x—4) - 6(x* - 3x +5)
=x%2+2x—4-6x>+18x-30

= —5x% + 20x — 34




